

**ON GAUSS TYPE FUNCTIONAL EQUATIONS AND MEAN
VALUES BY H. HARUKI AND TH. M. RASSIAS**

ZHENG LIU

Abstract. In this paper we give a concise summary of some recent results on Gauss type functional equations and mean values by H. Haruki and Th. M. Rassias.

1. Introduction

Ten years ago, in [5] Haruki reconsidered the Gauss' functional equation

$$f\left(\frac{a+b}{2}, \sqrt{ab}\right) = f(a, b) \quad (a, b > 0), \quad (1.1)$$

where $f : R^+ \times R^+ \rightarrow R$ is an unknown function.

It is well known that $f(a, b) = AG(a, b)$ satisfies (1.1) where $AG(a, b)$ is the arithmetic-geometric mean of Gauss of a, b defined as the common limit of the sequences $(a_n), (b_n)$ given recurrently by

$$a_0 = a, \quad b_0 = b, \quad a_{n+1} = (a_n + b_n)/2, \quad b_{n+1} = \sqrt{a_n b_n}.$$

The result given by Haruki may be stated as follows.

Theorem 1.1. *Let $f : R^+ \times R^+ \rightarrow R$. If f can be represented by the form, containing some function p , in $R^+ \times R^+$*

$$f(a, b) = \frac{1}{2\pi} \int_0^{2\pi} p(r) d\theta,$$

where $p : R^+ \rightarrow R$ and $p''(x)$ is continuous in R^+ , then the only solution of (1.1) is given by

$$f(a, b) = c_1 \frac{1}{AG(a, b)} + c_2, \quad (1.2)$$

where c_1 and c_2 are arbitrary real numbers.

1991 Mathematics Subject Classification. 39B22.

Key words and phrases. Gauss' functional equation, monotonic function, power mean.

It should be noted that Gauss established an integral representation of $AG(a, b)$ as

$$AG(a, b) = \left(\frac{1}{2\pi} \int_0^{2\pi} \frac{d\theta}{\sqrt{a^2 \cos^2 \theta + b^2 \sin^2 \theta}} \right)^{-1}. \quad (1.3)$$

So, (1.2) can be represented by using (1.3) as

$$f(a, b) = \frac{c_1}{2\pi} \int_0^{2\pi} \frac{d\theta}{\sqrt{a^2 \cos^2 \theta + b^2 \sin^2 \theta}} + c_2.$$

May be motivated by this fact, in [5] Haruki considered the following type mean value of a, b

$$M(a, b; p(r)) := p^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} p(r) d\theta \right),$$

where $p : R^+ \rightarrow R$, $p''(x)$ is a continuous function in R^+ , $p = p(x)$ is strictly monotonic in R^+ , and denote $\sqrt{a^2 \cos^2 \theta + b^2 \sin^2 \theta}$ by r .

The following theorem was proved in [5].

Theorem 1.2. *Let $c_1 (\neq 0)$ and c_2 be arbitrary real constants.*

(i) $M(a, b; p(r)) = AG(a, b)$ holds for all positive real numbers a, b if and only if $p(r) = c_1(1/r) + c_2$.

(ii) $M(a, b; p(r)) = G(a, b)$ holds for all positive real numbers a, b if and only if $p(r) = c_1(1/r^2) + c_2$.

(iii) $M(a, b; p(r)) = A(a, b)$ holds for all positive numbers a, b if and only if $p(r) = c_1 \log r + c_2$.

(iv) $M(a, b; p(r)) = \sqrt{\frac{a^2 + b^2}{2}}$ holds for all positive real numbers a, b if and only if $p(r) = c_1 r^2 + c_2$.

(v) *There exists no $p(r)$ such that $M(a, b; p(r)) = H(a, b)$ holds for all positive real numbers a, b .*

Since then, around the above two theorems, a series of new generalization appeared one after another.

We would like to make a survey in this paper.

Throughout this paper, let a and b be two any positive real numbers. A mean value of a, b , denoted by $M(a, b)$ is defined to be a real-valued function M , which satisfies the following postulates:

$$(P_1) \quad M : R^+ \times R^+ \rightarrow R;$$

$$(P_2) \quad M(a, b) = M(b, a) \text{ (symmetry property);}$$

(P_3) $M(a, a) = a$ (reflexivity property).

The arithmetic, geometric, and harmonic mean values of a, b are denoted by $A(a, b)$, $G(a, b)$ and $H(a, b)$, respectively.

In what follows, we also use the power means defined by

$$P_q(a, b) = \left(\frac{a^q + b^q}{2} \right)^{\frac{1}{q}}$$

for $q \neq 0$, while, for $q = 0$,

$$P_0(a, b) = G(a, b).$$

We denote also the power function

$$e_n(x) = x^n \text{ for } n \neq 0$$

and

$$e_0(x) = \log x.$$

2. Gauss Type Functional Equations

$$f\left(\frac{a+b}{2}, \frac{2ab}{a+b}\right) = f(a, b) \quad (a, b > 0), \quad (2.1)$$

where $f : R^+ \times R^+ \rightarrow R$ is an unknown function of the above equation. By following the theory on Gauss' functional equation (cf. [1], [2], [3], [4]), a new result on this functional equation is given as

Theorem 2.1. *Let $f : R^+ \times R^+ \rightarrow R$ be a function. If f can be represented by*

$$f(a, b) = \frac{1}{2\pi} \int_0^{2\pi} q(s) d\theta \quad (a, b > 0),$$

where $s = a \cos^2 \theta + b \sin^2 \theta$, $q : R^+ \rightarrow R$ is a function such that $q''(x)$ is continuous in R^+ , then the only solution of (2.1) is given by

$$f(a, b) = c_1 \frac{1}{\sqrt{ab}} + c_2,$$

where c_1 and c_2 are arbitrary real numbers.

An open problem for the functional equation (2.1) is given as follows:

Let $f : R^+ \times R^+ \rightarrow R$ be a continuous function in $R^+ \times R^+$. Is the only continuous solution of the functional equation (2.1) given by

$$f(a, b) = F(ab),$$

where $F : R^+ \rightarrow R$ is an arbitrary continuous function of a real variable x ?

In [13], the author treat the functional equation

$$f\left(\sqrt{ab}, \frac{2ab}{a+b}\right) = f(a, b) \quad (a, b > 0), \quad (2.2)$$

where $f : R^+ \times R^+ \rightarrow R$ is an unknown function of the above equation.

By following the theory on Gauss' functional equation, we obtained

Theorem 2.2. *Let $f : R^+ \times R^+ \rightarrow R$ be a function. If f can be represented by*

$$f(a, b) = \frac{1}{2\pi} \int_0^{2\pi} u(t) d\theta \quad (a, b > 0),$$

where $t = \left(\frac{\cos^2 \theta}{a^2} + \frac{\sin^2 \theta}{b^2}\right)^{-\frac{1}{2}}$, $u : R^+ \rightarrow R$ is a function such that $u''(x)$ is continuous in R^+ , then the only solution of (2.2) is given by

$$f(a, b) = c_1 GH(a, b) + c_2,$$

where c_1 and c_2 are arbitrary real numbers.

$GH(a, b)$ is the geometric-harmonic mean of a and b defined as the common limit of the sequences $(a_n), (b_n)$ given recurrently by

$$a_0 = a, \quad b_0 = b, \quad a_{n+1} = \sqrt{a_n b_n}, \quad b_{n+1} = \frac{2a_n b_n}{a_n + b_n}.$$

Also, an open problem for the functional equation (2.2) is given as follows:

Let $f : R^+ \times R^+ \rightarrow R$ be a continuous function in $R^+ \times R^+$. Is the only continuous solution of the functional equation (2.2) given by

$$f(a, b) = F(GH(a, b)),$$

where $F : R^+ \rightarrow R$ is an arbitrary continuous function of a real variable x ?

In [16], G. Toader considered a more general functional equation

$$f(P_q(a, b), P_s(a, b)) = f(a, b). \quad (2.3)$$

Denote

$$r_n(\theta) = (a^n \cos^2 \theta + b^n \sin^2 \theta)^{1/n}, \quad n \neq 0$$

and

$$r_0(\theta) = \lim_{n \rightarrow 0} r_n(\theta) = a^{\cos^2 \theta} b^{\sin^2 \theta}.$$

For a strictly monotonic function $p : R^+ \rightarrow R$, consider the function

$$f(a, b; p, n) = \frac{1}{2\pi} \int_0^{2\pi} p(r_n(\theta)) d\theta. \quad (2.4)$$

G. Toader proved the following theorem.

Theorem 2.3. *If the function f is a solution of (2.3) which can be represented by (2.4), where p has a continuous second-order derivative in R^+ , then*

$$p = c_1 e_{q+s-n} + c_2, \quad (2.5)$$

where c_1 and c_2 are arbitrary real numbers.

Remark. For $n = 2, q = 1$ and $s = 0$, we get the necessity part of Theorem 1.1. For $n = 1, q = 1$ and $s = -1$, we get the necessity part of Theorem 2.1. For $n = -2, q = 0$ and $s = -1$, we get the necessity part of Theorem 2.2. In all these three cases, as we have already mentioned, the condition is also sufficient.

In [17], the following theorem was proved.

Theorem 2.4. *If $n \neq 0, q = n$ and $s = -n$, then the function f given by (2.4) and p given by (2.5), verifies the relation (2.3).*

In [10], Kim and Rassias considered a generalized functional equation, namely

$$f(P_q^k(a, b), P_s^k(a, b)) = f(a, b) \quad (2.6)$$

where

$$P_q^k(a, b) = (ab)^{(1-k)/2} \left(\frac{a^q + b^q}{2} \right)^{\frac{k}{q}}.$$

The following theorem was proved.

Theorem 2.5. *If the function f is a solution of (2.6) which can be represented by (2.4), where p has a continuous second-order derivative in R^+ , then*

$$p = c_1 e_{-n+kq+ks} + c_2,$$

where c_1 and c_2 are arbitrary real numbers.

Clearly, Theorem 2.3 is a special case of Theorem 2.5.

In [18], S. Toader, Rassias and G. Toader consider a more general functional equation

$$f(M(a, b), N(a, b)) = f(a, b), \quad (2.7)$$

where M and N are two given means.

It is not difficult to prove the following theorem.

Theorem 2.6. *If the function f defined by (2.4) in case $n = 1$ is a solution of (2.6), where p has a continuous second-order derivative in R^+ , then the function p is a solution of the differential equation*

$$p''(c) + 4p'(x)[M''_{ab}(c, c) + N''_{ab}(c, c)] = 0.$$

Remark. In case $n = 1$, Theorem 2.3 and Theorem 2.5 can be deduced from Theorem 2.6.

3. Mean Values by H. Haruki and Th.M. Rassias

In [7], Haruki and Rassias considered the following two mean values of a, b :

$$M(a, b; q(s)) := q^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} q(s) d\theta \right),$$

where $q : R^+ \rightarrow R$, $q''(x)$ is a continuous function in R^+ , $q = q(x)$ is strictly monotonic in R^+ , and denote $a \cos^2 \theta + b \sin^2 \theta$ by s ; and

$$M(a, b; u(t)) := u^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} u(t) d\theta \right),$$

where $u : R^+ \rightarrow R$, $u''(x)$ is a continuous function in R^+ , $u = u(x)$ is strictly monotonic in R^+ , and denote $(\cos^2 \theta/a + \sin^2 \theta/b)^{-1}$ by t .

The following two theorems are proved.

Theorem 3.1. *Let $c_1 (\neq 0)$ and c_2 be arbitrary real constants.*

(i) $M(a, b; q(s)) = A(a, b)$ holds for all positive real numbers a, b if and only if $q(s) = c_1 s + c_2$.

(ii) $M(a, b; q(s)) = G(a, b)$ holds for all positive real numbers a, b if and only if $q(s) = c_1(1/s) + c_2$.

(iii) $M(a, b; q(s)) = P_{\frac{1}{2}}(a, b)$ holds for all positive real numbers a, b if and only if $q(s) = c_1 \log s + c_2$.

(iv) $M(a, b; q(s)) = \sqrt{H(a, b)G(a, b)}$ holds for all positive real numbers a, b if and only if $q(s) = c_1(1/s^2) + c_2$.

Theorem 3.2. *Let $c_1 (\neq 0)$ and c_2 be arbitrary real constants.*

(i) $M(a, b, u(t)) = G(a, b)$ holds for all positive real numbers a, b if and only if $u(t) = c_1 t + c_2$.

(ii) $M(a, b, u(t)) = H(a, b)$ holds for all positive real numbers a, b if and only if $u(t) = c_1(1/t) + c_2$.

(iii) $M(a, b, u(t)) = P_{-\frac{1}{2}}(a, b)$ holds for all positive real numbers a, b if and only if $u(t) = c_1 \log s + c_2$.

(iv) $M(a, b, u(t)) = \sqrt{A(a, b)G(a, b)}$ holds for all positive real numbers a, b if and only if $u(t) = c_1 t^2 + c_2$.

Noticed that the geometric-harmonic mean $GH(a, b)$ can be represented by a first complete elliptic integral as

$$GH(a, b) = \frac{1}{2\pi} \int_0^{2\pi} \frac{d\theta}{\sqrt{\frac{\cos^2 \theta}{a^2} + \frac{\sin^2 \theta}{b^2}}}, \quad (3.1)$$

the author in [12] considered the mean value of a, b

$$M(a, b; v(z)) = v^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} v(z) d\theta \right),$$

where $v : R^+ \rightarrow R$, $v''(x)$ is a continuous function in R^+ , $v = v(x)$ is strictly monotonic in R^+ , and denote $(\cos^2 \theta/a^2 + \sin^2 \theta/b^2)^{-\frac{1}{2}}$ by z .

The following theorem is proved.

Theorem 3.3. *Let $c_1 (\neq 0)$ and c_2 be arbitrary real constants.*

(i) $M(a, b; v(z)) = GH(a, b)$ holds for all positive real numbers a, b if and only if $v(z) = c_1 z + c_2$.

(ii) $M(a, b; v(z)) = G(a, b)$ holds for all positive real numbers a, b if and only if $v(z) = c_1 z^2 + c_2$.

(iii) $M(a, b; v(z)) = H(a, b)$ holds for all positive real numbers a, b if and only if $v(z) = c_1 \log z + c_2$.

(iv) $M(a, b; v(z)) = (H(a^2, b^2))^{1/2}$ holds for all positive real numbers a, b if and only if $v(z) = c_1(1/z^2) + c_2$.

(v) *There exists no $v(z)$ such that $M(a, b; v(z)) = A(a, b)$ holds for all positive real numbers a, b .*

It should be noted that in [8] Kim also considered the mean value $M(a, b; v(z))$ and got the results (ii), (iii), (iv) of Theorem 3.3.

In [16] and [17], G. Toader and Rassias considered a generalization of the above mentioned four mean values $M(a, b; p(r))$, $M(a, b; q(s))$, $M(a, b; u(t))$ and $M(a, b; v(z))$ as follows:

Denote

$$r_n(\theta) = (a^n \cos^2 \theta + b^n \sin^2 \theta)^{1/n}, \quad n \neq 0,$$

and

$$r_0(\theta) = \lim_{n \rightarrow 0} r_n(\theta) = a^{\cos^2 \theta} b^{\sin^2 \theta}.$$

For a strictly monotonic function $p : R^+ \rightarrow R$, set

$$M(a, b; p, r_n) = p^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} p(r_n(\theta)) d\theta \right).$$

It is easy to prove that $M(a, b; p, r_n)$ is a mean value.

As was stated in Theorem 1.2, Theorem 3.1, Theorem 3.2 and Theorem 3.3, the means $M(a, b; p, r_n)$ can represent some known means for special choice of p and n . In [10], the following theorem was proved.

Theorem 3.4. *If for some twice continuously differentiable function p the mean $M(a, b; p, r_n)$ reduces at the power mean $P_q(a, b)$, then*

$$p = c_1 e^{2q-n} + c_2,$$

where c_1 and c_2 are arbitrary real numbers.

In [17], the following theorem was proved.

Theorem 3.5. *The mean $M(a, b; p, r_n)$ reduces to the power mean $P_q(a, b)$ for arbitrary n if*

$$p = c_1 e^{2q-n} + c_2, \quad c_1, c_2 \in R$$

and q takes one of following values; (i) $q = 0$, (ii) $q = n$; or (iii) $q = n/2$.

In [9], Kim considered some further extensions of values by H. Haruki and Th.M. Rassias as follows:

$$M(a, b; h(s)) := \frac{1}{H(a, b)} h^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} h(s) d\theta \right), \quad (3.2)$$

where $h : R^+ \rightarrow R$, $h''(x)$ is a continuous function in R^+ , $h = h(x)$ is strictly monotonic in R^+ , and denote $(\cos^2 \theta/a^2 + \sin^2 \theta/b^2)^{-1}$ by s ,

$$M(a, b; k(s)) := \frac{1}{H(a, b)} k^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} k(s) d\theta \right), \quad (3.3)$$

where $k : R^+ \rightarrow R$, $k''(x)$ is a continuous function in R^+ , $k = k(x)$ is strictly monotonic in R^+ , and denote $(a \cos \theta)^2 + (b \sin \theta)^2$ by s .

The following theorems are proved:

Theorem 3.6. *Let $c_1(\neq 0)$ and c_2 be arbitrary real constants.*

(i) $M(a, b; h(s)) = A(a, b)$ holds for all positive real numbers a, b if and only if $h(s) = c_1 s + c_2$.

(ii) $M(a, b; h(s)) = ab(a + b)/(a^2 + b^2)$ holds for all positive real numbers a, b if and only if $h(s) = c_1(1/s) + c_2$.

(iii) $M(a, b; h(s)) = H(a, b)$ holds for all positive real numbers a, b if and only if $h(s) = c_1 \log s + c_2$.

(iv) $M(a, b; h(s)) = \sqrt{2(a + b)^2(ab)^2/(3a^4 + 3b^4 + 2(ab)^2)}$ holds for all positive real numbers a, b if and only if $h(s) = c_1(1/s^2) + c_2$.

(v) $M(a, b; h(s)) = \sqrt{(a^2 + b^2)(a + b)^2/8ab}$ holds for all positive real numbers a, b if and only if $h(s) = c_1 s^2 + c_2$.

Theorem 3.7. *Let $c_1(\neq 0)$ and c_2 be arbitrary real constants.*

(i) $M(a, b; k(s)) = (a^2 + b^2)(a + b)/4ab$ holds for all positive real numbers a, b if and only if $k(s) = c_1 s + c_2$.

(ii) $M(a, b; k(s)) = A(a, b)$ holds for all positive real numbers a, b if and only if $k(s) = c_1(1/s) + c_2$.

(iii) $M(a, b; k(s)) = (a + b)^3/8ab$ holds for all positive real numbers a, b if and only if $k(s) = c_1 \log s + c_2$.

(iv) $M(a, b; k(s)) = \sqrt{(ab)(a + b)^2/2(a^2 + b^2)}$ holds for all positive real numbers a, b if and only if $k(s) = c_1(1/s^2) + c_2$.

(v) $M(a, b; k(s)) = \sqrt{(a + b)^2(3a^4 + 3b^4 + 2(ab)^2)/32(ab)^2}$ holds for all positive real numbers a, b if and only if $k(s) = c_1 s^2 + c_2$.

Instead of (3.2) and (3.3), in [14] the author considered in general, the following two mean values of a, b :

$$M(a, b; h(s), q) := \frac{1}{P_q(a, b)} h^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} h(s) d\theta \right), \quad (3.4)$$

and

$$M(a, b; k(s), q) := \frac{1}{P_q(a, b)} k^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} k(s) d\theta \right), \quad (3.5)$$

where $h(s)$ and $k(s)$ are just the same as in (3.2) and (3.3).

Moreover, denote

$$s_n(\theta) = (a^{2n} \cos^2 \theta + b^{2n} \sin^2 \theta)^{\frac{1}{n}}, \quad n \neq 0,$$

and

$$s_0(\theta) = \lim_{n \rightarrow 0} s_n(\theta) = a^{2 \cos^2 \theta} b^{2 \sin^2 \theta}.$$

If $p : R^+ \rightarrow R$ is a strictly monotonic function, then

$$M(a, b; p, s_n; q) = \frac{1}{P_q(a, b)} p^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} p(s_n(\theta)) d\theta \right)$$

defines a mean value of a, b . Clearly, (3.4) is given for $n = -1$ and (3.5) is given for $n = 1$.

We have the following two theorems.

Theorem 3.8. *If for some twice continuously differentiable function p the mean $M(a, b; p, s_n; q)$ reduces at the power mean $P_r(a, b)$, then*

$$p = c_1 e^{(q+r)/2-n} + c_2,$$

where c_1 and c_2 are arbitrary real numbers.

Theorem 3.9. *The mean $M(a, b; p, s_n; q)$ reduces to the power mean $P_r(a, b)$ for arbitrary n if*

$$p = c_1 e^{(q+r)/2-n} + c_2, \quad c_1, c_2 \in R$$

and r takes one of the following values: (i) $r = -q$ or (ii) $r = q = n$.

In [10], Kim and Rassias considered a new mean value

$$M(a, b; p, r_{n,k}) := (ab)^{(1-k)/2} p^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} p(r_{n,k}(\theta)) d\theta \right) \quad (3.6)$$

where $p : R^+ \rightarrow R$ is a strictly monotonic function, n and k are real numbers,

$$r_{n,k}(\theta) = (a^{kn} \cos^2 \theta + b^{kn} \sin^2 \theta)^{\frac{1}{n}}, \quad n, k \neq 0,$$

and

$$r_{0,k}(\theta) = \lim_{n \rightarrow 0} r_{n,k}(\theta) = a^{k \cos^2 \theta} b^{k \sin^2 \theta}, \quad k \neq 0.$$

The mean can represent some known means for special choice of p, k and n . Two well-known examples are given for $n = 2, k = 1, p(x) = x^{-1}$ and $n = -2, k = 1, p(x) = x$ respectively. They correspond to the arithmetic-geometric mean of Gauss (1.3) and geometric-harmonic mean (3.1) respectively.

Kim and Rassias in [10] also considered the following generalization of the power means defined by

$$H_q^k(a, b) = (ab)^{(1-k)/2} \left(\frac{2a^q b^q}{a^q + b^q} \right)^{k/q}, \quad k \neq 0$$

for $q \neq 0$, while $H_0^k(a, b) = \lim_{q \rightarrow 0} H_q^k(a, b) = \sqrt{ab}$ for $q = 0$.

It is not difficult to prove the following theorems.

Theorem 3.10. *If the mean $M(a, b; p, r_{n,k})$ reduces to the power mean $P_q^k(a, b) = H_{-q}^k(a, b)$ for some twice continuously differentiable function p , then*

$$p = c_1 e^{(2kq - nk^2)/k^2} + c_2,$$

where c_1 and c_2 are arbitrary real numbers.

Theorem 3.11. *The mean $M(a, b; p, r_{n,k})$ reduces to the power mean $P_q^k(a, b)$ for some arbitrary n if*

$$P = c_1 e^{(2kq - nk^2)/k^2} + c_2, \quad c_1, c_2 \in \mathbb{R}$$

and q takes one of the following values: (i) $q = 0$, (ii) $q = nk$; or (iii) $q = nk/2$.

Theorem 3.12. *Let $c_1 (\neq 0)$ and c_2 be arbitrary real constants.*

(i) $M(a, b; p, r_{1,k}) = \frac{1}{2}(a^k + b^k)(ab)^{(1-k)/2}$ holds for all positive real numbers a, b if and only if $p(s) = c_1 s + c_2$.

(ii) $M(a, b; p, r_{1,k}) = G(a, b)$ holds for all positive real numbers a, b if and only if $p(s) = c_1(1/s) + c_2$.

(iii) $M(a, b; p, r_{1,k}) = \frac{1}{4}(ab)^{(1-k)/2}(a^{k/2} + b^{k/2})^2$ holds for all positive real numbers a, b if and only if $p(s) = c_1 \log s + c_2$.

(iv) $M(a, b; p, r_{1,k}) = \frac{\sqrt{2}(ab)^{(k+2)/4}}{(a^k + b^k)^{1/2}}$ holds for all positive real numbers a, b if and only if $p(s) = c_1(1/s^2) + c_2$.

(v) $M(a, b; p, r_{1,k}) = \frac{[3(a^{2k} + b^{2k}) + 2(ab)^k]^{1/2}}{[8(ab)^{(k-1)}]^{1/2}}$ holds for all positive real numbers a, b if and only if $p(s) = c_1 s^2 + c_2$.

Theorem 3.13. *Let $c_1 (\neq 0)$ and c_2 be arbitrary real constants.*

(i) $M(a, b; p, r_{-1,k}) = G(a, b)$ holds for all positive real numbers a, b if and only if $p(s) = c_1 s + c_2$.

(ii) $M(a, b; p, r_{-1,k}) = 2(ab)^{(k+1)/2}(a^k + b^k)^{-1}$ holds for all positive real numbers a, b if and only if $p(s) = c_1(1/s) + c_2$.

(iii) $M(a, b; p, r_{-1, k}) = 4(ab)^{(1+k)/2}(a^{k/2} + b^{k/2})^{-2}$ holds for all positive real numbers a, b if and only if $p(s) = c_1 \log s + c_2$.

(iv) $M(a, b; p, r_{-1, k}) = \frac{1}{\sqrt{2}}(a^k + b^k)^{1/2}(ab)^{(2-k)/4}$ holds for all positive real numbers a, b if and only if $p(s) = c_1(1/s^2) + c_2$.

(v) $M(a, b; p, r_{-1, k}) = \frac{[8(ab)^{k+1}]^{1/2}}{[3(a^{2k} + b^{2k}) + 2(ab)^k]^{1/2}}$ holds for all positive real numbers a, b if and only if $p(s) = c_1 s^2 + c_2$.

Instead of (3.6), Rassias and Kim in [15] introduce in general, the following mean values of a, b :

$$M(a, b; p, r_{n, k}; q) := [P_q(a, b)]^{(1-k)} p^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} p(r_{n, k}(\theta)) d\theta \right)$$

where $p(r_{n, k}(\theta))$ is just the same as in (3.6).

The following theorems are proved.

Theorem 3.14. *If the mean $M(a, b; p, r_{n, k}; q)$ reduces to the power mean $P_s(a, b)$ for some twice continuously differentiable function p , then*

$$p = c_1 e^{\frac{2q(k-1)+2s}{k^2} - n} + c_2,$$

where c_1 and c_2 are arbitrary real numbers.

Theorem 3.15. *The mean $M(a, b; p, r_{n, k}; q)$ reduces to the power mean $P_s(a, b)$ for some arbitrary n if*

$$p = c_1 e^{\frac{2q(k-1)+2s}{k^2} - n} + c_2, \quad c_1, c_2 \in R$$

and s takes one of the following values: (i) $s = q = 0$, (ii) $s = -q, k = 2$, (iii) $s = q = nk$; or (iv) $s = q = nk/2$.

Acknowledgment. The author is greatly indebted to Professor Th.M. Rassias for his encouragement of doing this work and presentation of references [10], [11], [15] and [18].

References

[1] G. Almkvist, B. Berndt, *Gauss, Landen, Ramanujan, the arithmetic-geometric mean, ellipses, π , and the Ladies Diary*, Amer. Math. Monthly, 95(1988), 585-607.
 [2] J. Arazy, T. Claeson, S. Janson, J. Peetre, *Means and their iterations*, Proceedings of the Nineteenth Nordic Congredd of Mathematicians, Reykjavik, 1984, 191-212.
 [3] D.A. Cox, *The arithmetic-geometric mean of Gauss*, L'Enseign. Math., 30(1984), 275-330.
 [4] C.F. Gauss, *Werke*, Göttingen-Leipzig, 1868-1927.
 [5] H. Haruki, *New Characterizations of the arithmetic-geometric mean of Gauss and other well-known mean values*, Publ. Math. Debrecen, 38(1991), 323-332.

- [6] H. Haruki, Th.M. Rassias, *A new analogue of Gauss' functional equation*, Internat. J. Math. & Math. Sci. 18(1995), 749-756.
- [7] H. Haruki, Th.M. Rassias, *New characterizations of some mean values*, J. Math. Anal. Appl. 202(1996), 333-348.
- [8] Y.H. Kim, *New characterization of well-known mean values*, Far East J. Math. Sci. 6(16)(1998), 939-947.
- [9] Y.H. Kim, *On some further extensions of the characterizations of mean values by H. Haruki and Th.M. Rassias*, J. Math. Anal. Appl., 235(1999), 598-607.
- [10] Y.H. Kim, Th.M. Rassias, *Properties of some mean values and functional equations*, Pan American Mathematical Journal (to appear).
- [11] Y.H. Kim, Th.M. Rassias, *On some mean value theorems and functional equations*, Pan American Mathematical Journal (to appear).
- [12] Z. Liu, *Geometric-Harmonic means and characterizations of some mean-values*, (to appear).
- [13] Z. Liu, *A Gauss type functional equation*, (to appear).
- [14] Z. Liu, *On new generalizations of certain mean values by H. Haruki and Th.M. Rassias*, (to appear).
- [15] Th.M. Rassias, Y.H. Kim, *New characterizations of some mean values and functional equations*, Mathematica (to appear).
- [16] G. Toader, *Some mean values related to the arithmetic-geometric mean*, J. Math. Anal. Appl. 218(1998), 358-368.
- [17] G. Toader, Th.M. Rassias, *New properties of some mean values*, J. Math. Anal. Appl. 232(1999), 376-383.
- [18] S. Toader, Th.M. Rassias, G. Toader, *A Gauss type functional equation*, International Journal of Mathematics and Mathematical Sciences (to appear).

DEPARTMENT OF MATHEMATICS AND PHYSICS, ANSHAN INSTITUTE OF IRON AND STEEL TECHNOLOGY, ANSHAN 114002, LIAONING, PEOPLE'S REPUBLIC OF CHINA